il
W
St
%
I

1. THE4
THE4 ERE3F R/ X S%E (F04) THE
T4 JEE VR Jo R BT AR T _E G Hi 5
2. THEHNE
1)  HEI4 BIRESEREFESTT LR
2) £ I & ERKS R T
3) T Eiij] 263 A 5 H AFn T4 48 1H
= AF1 T4E12H19H
4) TEyE

E LAma  JUN TR )R




Vv = =
FEENFRE s
T=E4 | BRE3FLE/GAHREGE (F04) TF
TSy « TfE - FER B {7 % & A bl A iR
JERRH R =X 50, 059, 519
HEELT = 24, 542, 476
PEHI T (ICT) =Y 3,830, 880 | #HH!I (ICT) 6, 900 m3
+wp 47" by BEEME L 10, 000m3LL_1=50, 000m
AT ;
A 6, 900 m3
LY A7 iy b FRLME PEEME 10, 000m3LA 150
, 000m3A il ;
EEEEIE T (ICT) = 759,696 |{EMEEETE (G) L) (ICT) 840 m2
VB = W R OB = CRE L
BBy )=} =X 1,665,840 |3E 0 av))-} 514 m2
18-8-40 (F4F)  av))- MR 4
P v T = 18, 286, 060 | - Hh %5 1HEHE 13, 780 m3
0 Cadl- EHIRY £5T) ;
IR = 2, 090, 380
faEAET 2 2,090, 380 | FHAE A MAT 380 m2
3em AEARFFAWRAT T 250m2L0L E500m2 A0 ;
HEKHEEY T = 1, 986, 882
e+ T 2 102,619 |FFHEY 1 X
+4)
i 1 X
+4)
HEL 1 2V
HEL 1 X
HmEEE 1 =X
b T 1 =X
0 Cadl- EHIRY £5T) ;
LKk vt T = 120, 700 | BLIGHT H K 2 & AT
(heghm )
500 X 500 X 500 HiLG T4 18-8-25 (FEi47) Jhm

TAZIEE LN )R




== /oA = =
FEAENGRE e
T4 | IR 3 S EAMKKR (F04) TH
TEHX4y « Tfd - FER B Az W B & #A i il BN
VEZEAHIEIE
EA 2 e
(sl )
500 X 500 (600 X 600X 3. 2) ;
HEk L Y 1 356, 660 | /NERHEIK 34 m
(UBRITHE)
U OKBE ) P& 300mm PNE: 300mm ;
5y 7)) = 1 1,406,903 |3E D a/))-} 191 m2
UNBedEaK)
18-8-40 (F&F)  av)) - By e
BT T = 1 5,271, 041
B 1Al T = 1 5,271,041 |FERE7 ny), SAE FLRE 60
R IR 6 101.6X3.2 1L=600 ;
FLE 0y, SRS R 127
R IR $101.6X3.2 L=700 ;
&8 - 3AE (ST NBE 1R 115 m
2mLL T 2m K& T-HAT REUE
&8 - 3AE (ST NBE 1R 252 m
2mLL T 2m k&R AL ;
TE AT R itk T Y 1 276, 196
BRT X 1 276,196 | BL AU 29 %N
120 X 120 X900 R4 & JLpkdE L ;
SN AL T =Y 1 12, 251, 810
IEALBREE T Y 1 12,251,810 |iALFR/ESE 1 =
A Y 1 3, 640, 734
K T Y 1 1,084,914 |FRHE D 1 2V
+4)
FEEEIE 1 =
- fD S 1 E
-2 - E+A8m SN T S




== /oA = =
FEAENGRE e
T4 | IR 3 S EAMKKR (F04) TH
TEHX4y « Tfd - FER B Az £ & #A iR
+w Casl- ERIRY +&T)
I BEA T 200 m
18-8-40 (7 47) t=5cm ;
H Hi 2 m2
TR S B ik =10 ;
K E 60 m
FBER VFVAE  ¢300 v vEdE (BINE)
A ERE E T = 2, 555, 820 | AZiMAE K B 1 =
[ERAE Xy = 50, 059, 519
HiE 2 = 39, 459, 743
BISTIGE: = 33,904, 743
Hefif & = 32,641, 798 | kR 1 =
ARy 1 =
HeffrE sy = 697,945 | {R5FEHR(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
TER R AT -IMERE A 1 =
BGRESGESE (5 L) = 565, 000
B (FEHL) = 5, 555, 000
T = 89, 519, 262
Bl gy = 25, 091, 000
T =5l = 114, 610, 262
— R A = 17,799, 738
TS = 132, 410, 000

TAZIEE LN )R




